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Abbreviations 
CTM = Continuous thread method 
CH = Chain 
FR = Floating ring 
+   = Join 
- = Picot 
3 threads  =  2 withe (1 Shuttle 1 and 1 ball) and 1 rose( shuttle 2 ).e  
ds  = double stitch 
        = seed bead 
 
        = large seed bead 
 
 
         =  large bead. 
 
Round 1  = 2 shuttle ( thread with and rose) 1 ball ( thread with). 
Round 2  = 1 shuttle and 1 fabric needle ( threads withe ). 
 
 
ROUND 1 
 
11 large seed bead in shuttle 1  
Maltese chain = 3ds (shuttle 2 ), slide 1 large seed bead , 3ds (shuttle 2).  
Complete around. 
Joining the maltese chain, leaving two long threads. Use fabric glue to the knot does not undo. 
 
ROUND 2 
 
Put 160 seed beads in one shuttle. 
CTM  
Start on the 1ds maltese chain.  
Pass the needle through 1st large seed bead. 
CH 1 = 1ds        1ds – 1ds        1eadds. 
Pass the needle througt 2ª large seed bead. 
Make all around. 
CH11 =  1ds       1ds                          1ds         1ds.   
 
Pass the needle through 1ª large seed bead.  
 
CH 12 =    1ds                     1ds FR                                               1ds Clr  + (- CH1 ).   
 
Make all around     
Cut & Tie. 
 
Pass the threads of maltese chain inside the big account and put 14 large 
seed beads 
Put the thread into the large bead. Give a small knot at the junction of the maltese chain and 
put a drop of glue fabric to not undo the knot. 
Hide the ends inside the big bead. 
This large bead 
 
OBS:  This large bead must have a big hole to fit all the wires.                        
   


